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L. 7 mwn: prohibition of offering a 129 on afternoon of 1> while owning ynn
a. 7’ only violate if bringing the noa
b. A7 77 even if the ”"na Yv Tnn is offered while ynn is owned (per vv. 1-2 — »ar - referent is Tnn)
c. v”ron 1, only a valid noa (1nwY)
i. But: during the rest of the an, any valid offering
1.Rationale: 2 separate verses (1&2) using »nar — when 1 is liable, the other is not
2.Exceptions: 1nWY Noa or nnWH XYY NRLN
a) Inference: W™ requires an active nwn npy to make the noa into a p'nYw (and default is noa)
b) Rejection: case where 0’91 were deferred to »2» nva and this noa is still “ynw%H”, waiting for 1782 7
II. 9" v.»: parameters of prohibition
a. Ownership: ynn must be owned by slaughterer, officiant or member of nman
b. Location: dispute if it must be with him in 19ty (5”1 — must; >3 — need not be there)
i. Proposal: dispute re: interpretation of ">»” (vv. 1-2) — requirement of proximity (5"7) or not (>")
1.Challenge: redundancy of dispute re: nTin »mn? (v. 3)
a) pry “r bread of nTin may be outside of N1y at times of nvYNY > Yy doesn’t imply proximity
b) 572w7 bread of nTin must be inside Nty at time of NY'NY %Y implies proximity
ii. Alternate proposal: dispute is about efficacy of pao nxnn
1.Challenge: redundancy of dispute — re: Y318 YW N2V
a) 71 no Mpon since it is a N"ARY XY (>pao nNrINN is still valid)
b) 572w no mphn since it is a pav NRINN (at time of warning, unclear if he’ll violate the oath)
i. But: n”arw RY —liable
iii. Return to 1% proposal: dispute re: meaning of %» and both disputes are necessary
1.4m577x if only ynn-dispute recorded, X”10 that »*1 doesn’t require proximity (1o°R) but for onon w1p — does
a) And: if only nTin »nnb taught, ™70 that Y”aw requires proximity there but not for ynn (as above)
II. Question re: Y™’s ruling that any member of the nMan creates violation — perhaps only vmw violates?
a.Answer: ynn - not “1¥nn” - is written; limited to anyone who is liable for p>n Ya (juxtaposed in both verses)
i. 977 therefore, anyjna burning the n’avn violates pnn Yy vnwn &Y since he is responsible for NN
1. 7857792 supports 9™ — includes n1opn (and excludes npron)
2.2812272 contradicts 1812 — excludes nvpn and includes npYn
a) Internal contradiction: limited to noy, yet includes np*on (not possible w/noa)
b) Answers: authored by w™
i. 7p75p no np*on on 7, just during mn
ii. /77VpPT compares PN to NVNY;
1.No /779pir: no analogy from nvnw
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